UBUNGSKONIG

Kopfrechenubungen fur jeden Tag

gemischte Aufgaben 7

Lose die Aufgaben!

78 : 2 =39

(Losung)

360:180 =2

10 = 100

99 :9=11

400 - 60 =24 000

0,5 min mm= 500

| - 624| = 624 64 + 46 = 110
% von 360 = 180 20 - 20 = 400
650 - 3 = 1950 666 : 6 = 111

98 765 432 + 44 32 = 98 769 864

4 560 + 886 = 5 446

600-8=4800

% von 380 = 95

493 000 - 11 000 = 482 000

52 386 - 4785 =47 601

5762 + 3 660 =9 422

2 110 + 356 = 2 466

489 000 - 99 000 = 390 000

55987 - 1000 = 54 987

| - 874| = 874

78 + 65 = 143

%> von 988 = 494

12 - 12 = 144

700 -7 =1400

% von 500 = 125

9-8=72

50:25=2
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